. PlayIs Frivolous

Flexibility of Thinking Problems

To end this chapter on play, it's only fitting to give you
some problemsto play with. Each problem is an equation
. which can be solved by substituting the appropriate words
for the letters. Have fun with them!

Examples: 3F. = 1Y. (3 Feet = 1 Yard)

4L.C. = G.L. (4 Leaf Clover = Good Luck)

M. F M OSNH cV L C sRI =NE
“1B.inthe H. = 2inthe B."

8D. - 24H. = |W.

3P. =6

HH.&M.H.at 12 = N.or M.

4). + 4Q. + 4K. = Allthe F.C.

S.&M &T&W. & T.&F. &S. areD. of W.
A +N. +AF + MC. +CG. =AF 3
T. = L.S. State

. 23Y. - 3Y. = 2D.

E. -8 =2

LY. +20.=T | B
. C. +6D =NYE.

LY. -5, -5 —A =W

. A.&E. wereintheG. of E.

. My F.L. and South P. are both M.C.

“N.N. = GN.”

N. + P. + SM. = S.0fC. | :

1 +6Z = IM. 4

. “R.=R. =R" 1
AL &J.G. & WM. &J K wereall A, :
.NH+FV.+P +A +A +C +P + 1. =PofS.
S. + H.ofR. = US.C.
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